HUMAN SETTLEMENT
SHORT ANSWER TYPE QUESTIONS:
Q1. What are the determinant factors for the rural settlement?

Q2. Which one of the following is not the part of the definition of atown as per the census of India
Presence of municipality, corporation etc.

Population density of 400 persons per sq km.

More than 75% of population engaged in primary sector.

Q3. In which one of the following environment does one expect the presence of dispersed rural settlements?
Alluvial planes of Ganga.

Lower valleys of Himalayas.

Forests and hillsin north east.

Q4. Jaipur is an example of :

Ancient towns

Modern towns

Medieval towns

Q5. What is hinterland?

Long Answer Type Questions :

QL. Differentiate between compact settlement and dispersed settlement.
Q2. What are ancient towns? How do water supply and nature of terrain influence the rural settlement patterns.



